AP® CALCULUS AB
2016 SCORING GUIDELINES

Question 6
x fx) | f(x) | glx) | &%)
1 -6 3 2 8
2 2 ) -3 0
3 8 7 6 2
6 4 5 3 -1

The functions f and g have continuous second derivatives. The table above gives values of the functions and
their derivatives at selected values of x.

(a) Let k(x) = f(g(x)). Write an equation for the line tangent to the graph of k at x = 3.

(b) Let h(x) = %. Find A'(1).

(c) Evaluate f £"(2x) dx.

@ k(3) = 1(g(3)) = f(6)=4 3.{2:slopeatx:3
k'(3) = f'(2(3))-g'(3) = f'(6):2=5-2=10 " | 1: equation for tangent line

An equation for the tangent line is y = 10(x — 3) + 4.

: fM)-g'M)-g®)- (1) , ,
(b) (1) = 2 : expression for A'(1)
(f(l))2 3 { 1 : answer
_(-6)-8-2-3 54 3
T (e 36 2
© [ rr@ode=1[reo] =176 - 1) (2 antiderivative
) { 1 : answer

1 7
=505-(=2)]=75
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